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OPTION-A

(Business Statistics))

Baper

COM-HG- 3016

An
Swer Question Nos. 1, 2, 3 and any four

from the rest.

R 3“%‘@@%%@7@3@%%
Rtz sifRby Sev sl

1

(@ Fill in the blanks

. (any four) 1x4=4

AU 3% oAt 2 (ot )

(1)

'Wﬁw

(%)

(iti)

(iv)

S.D. is independent of change of

7 offqeas AT -
e QEHEIWI
Ifr

is equal to 0.6, then ryx is

e

’Jﬁfr 3?1-‘4063;{511;; C—t@ryxzj‘aﬂﬂ
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Regr
mg%l ession coefﬁc1ents have & ==
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alWays e ;Sfor base year
T TR v 7 24 |
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(b)
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(v)

o TOR[T AL & T

'The probability of occurrence of

(Vi)

(vii)

A rise in prices before Diwali is an
example of variations of time

series data.

ﬁmﬁawwq@ (ZRICH! FECETT
IO bl Triesd |

an event ranges from __ to

451 o RS (AN AR A
T =i T o A |

variance is equal to of
standard deviation.

Wﬁwﬁmﬂa o |

Select the correct answer : (any three)

@%WWW"

)

1x3=3
(fizeiean foro!)

Which average is appropriate for
computing average rate of growth ?

WW%ﬂWaﬁaﬁa@nﬁam
FATS 2

Arithmetic mean

(@)
TGS L
(b) Median
BRI




(1)

() Geometric mean
RTQICEN ]
(d) Harmonic mean

SIS

The frequence distribution is

considered negatively skewed if the
‘graph have a longer tail on '

IS 35 51 el AT

T 1 2 e oo e R AT
@ left side ' .

ST

(b) right side

(¢) both sides
IR :

(d)  None of the above
ST Ghre Jy

(i)

4(s -
( em~3/CBCs) HG1/Hg

lsailk correlation js preferred if b
ature of the data is

I T oy i il &

ez v oFfe

(a) quantitétive data

YN wey
/G 4

(iv)

).
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(b) qualitative data
I S |
(c) Both (a) and (b)
" (@) 9% (b) (AR
(d) None of the above -

_ @]9 OIS 7Y

Both regression coefficients cannot
be

B! ST @l R GIRIC

(a) greater than one

GFO(P ©IeT

'(b) smaller than one

T T
(c) equal to one
G AT
(d) None of the above

@[T oIS 7=

Index numbers are expressed in
what form ?

PHITE B 40 eprd 7 R ?
(a) Ratio
TS
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(6 Write True or False

4 (Sem—3/‘CBcS) HG

(b)  Percentage |
ol f2piore |
() Squares
o fepiors
(d) None of the above
. 89177 qbie W
(Vi) Mean of a random variable X i8
Bl Ao b X T G &R b
(@)  E(X) i |
®) E(x?)
(© E(X)

; |

@ 2l ppop o)

: (any two)
1%x2=2

(i) For
. & Dumber of positive values
RS LT —
(i) M <GM < 1y
7IE .
u‘lr%Ta Normal distribution

e.an % Median = MOde
0 = T3 = 2
1/HG2/q 6 :
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(i) Population characteristics are
called statistic.

e AR eifower S R =

(iv) Standard deviation can never be
negative. :

e Foe (@feRle TF 29 (I

(d) Mention the parameter(s) of Poisson

distributuion. e 1
o5 95T &b (@IR) T

Answer any fibe of the following questions :
2x5=10

e fazil oSl eed Ted 8
(@) A student obtained
cov (X, Y)=100; &; =100, 8= 8L
Is the data c;onsistent ?
o @ AT &
© cov(X,Y)=100, &7 =100, 5. — 8l
s el e

(b) Mention any two properties of binomial
~ distribution. '

foo 2R Pl 71 ol Trad
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(o)

(d)

(e)

(9)

¢ :
(Sem-3/cBes) g [HG2/G

Ari .

Af‘i:;:hmeth mean of 8 numbers is 15
Wh Tward a new number 24 is added.
_ at 1s the N of O’ mumbers ?

ifmwwﬂm 15 | forgs @5l wgd K
@I 91 29| 3 OB R AT I
BRisiest -

Wri ;
anélte~ two differences between census

~ ferary

W y
hat is leve] of significance ?

Aot B R

What ¢ : .
dispersioho? you understand PY
il i%'lt?{ o & @i

TWO
cvents A and B are mutually -

; exclus'. 1
_ ive. If P(A);% and P(B)=3"

find th :
e gl
event willr)g(;gilslllty that at least on¢

o mlA SlI% B sfwig qfzge <o | aff

P(a)-

ﬂ;A)‘EW P(B)=% —@,meﬁo—ﬂﬁe
mmwﬁ@f%ﬁ\ew |

8

et o1l i effornd e st 707 AT

(h) What do you mean by price relative ?

0

0

quﬁ%{%mﬁqw

What should be the base year like in
constructing index number ?

s 19 IS Fofed G SHw?
What is null hypothesis ?

Re 458 7

Answer any four of the following questions :

5x4=20

(@

(b)

()
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What are the characteristics of an ideal
average ?

<5t i i R R

L =& distribution A.M. =45,
Median = 48, Coefficient of skewness
204, "Eind " the value of standard

deviation and mode.
a5l Rerews TSI MY = 45, A = 48 A®
seifey @eicE = — 0.4 | TS Koo i IR

el 1 |

What is scatter diagram ? How does it
help us in studying the correlation
between two variable




(d)

(e)

(9)

Mention h

the chief a

! charac 1sti
n_ormal dl o " teristics ‘Of

PR < 4y G T

Discus:s

S

i e_yS the advantages of sample
IVey over census method

P tsfon oo offond i AR

ST 5 |

Write :
4 a note
‘number. on usefulness of index

DI - |
ARG somich 1 (el o7 |

_Assumj
ng the probability of a male

blrth as l ) ¢ j
5> find the probability that a

family :
of 3 children will have (i) one

. girl, 5
; and (i) at least one oirl

. g
RRE iRl - e fofem

RN D ERIER
T BT (i) e AT, S

(ii) A
a1 S GG (R ol ARl [

s A2 S G\
™=3/CBCS) HG1/HG2/G * -1q -

— e . Pl

(h)

'4.- (a)

Marks
39

Number of students : - 15

Explain fh_e concepts of type I and type II
error of testing hypothesis. 2+4=6

mﬁmam’wﬁ%ﬁ@aw
Zf5e giet i A '

Calculate mean and coefficient of

variation from the following data :
; 2+4=6

oo ol SURAR o/l TG g = [l

aaliegs T 1 ¢
0-10 10-20 20-30 30-40 40-50

i T o

wg-gad MR

(b)

4 (Sem-3/CBCS) HG1/HG 2/G

s ? Explain different

What is skewnes
4

types of skewness.

weifey e Rfed «qwmw@*.

Karl Pearson’s coefficient of
n ? What does it measure ?
owing values of

What 1is
correlatio
Interpret the foll
coefficient of correlation :

e e =0 =1 4

S IR adis 57 3 B cal?

it 7
FTE P e =as AC U LIRC R
o0 W 0
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(b)

(@)

(b)

4 (Sem-3/Cpcg) HGl/i—IG YA 1)

lestlrnate the two regression equations
rom the following data : S+1=6

T il SRR sl sTreel T 16!
T 9 _
e e 2" 104~ 8
IO 1. 5. 8, 7
Also estimate X, if Y=20.

Y=20 21 X 3 W fidfaet 51t |

Define , 2+2=4

(l) Random Experiment .A

(i) Trial and Event

ket g

() o wiFem

(@) A S Toa)

A rglet.e.orologist has forecast the

pr (Zj ability of rains on Monday, Tuesday

j;’l ngnesday as 0.6, 0.5 and 0.3

e :r;r)leglvely. Assuming that the weather
ay to day is independent, what

i:aﬂtle propability that it will rain at
St once in these three days ? 6

UICDE IO Eeaner IS, TR ST JLRTS
S =29 SISl @ 0.6, 0.5 W@ 0.3
gﬁwmlmmm{%@
o wifs
il © e Gfnq 7974 SR

(b)

(b)

Year
I

Sales (in thousand) : 39
R (I 5O)

 4(sem-3/CBCS) HG1/HG2/G

What is Poisson distribution ? Give two
examples of poisson distribution.
2+2=4

oG 5 52 “¥5 369 75 Tmimae |

If three coins are tossed at a time, find
expectation and variance of the number
of heads. : 6
oot @ «<FTel eAsteT Fewe SR geg

e ol i @7 el |

Six coins are tossed simultaneously. What
is the probability of getting (i) 2 heads,
and (i) more than 2 heads. 6
@?{Qﬁtﬂﬂﬂ@ﬁﬁﬁﬁﬁ@i’m (i) 751 3,
o (i) PO @R 38 (AARE Tl [ 23

Explain. the importance of normal
distribution in statistics. 4

sifRTRay REEAS 2PN ST S5 14T 1 |

Calculate the trend values by using
least square method and estimate the
sales of 2022 from the following data :

S5+1=6

e 2 TS IR I T il W o1

el ST SRS SR 2022 IECHIE A TS
R e 9 e

. 2017 2018 2019 2020 2021

56 79, < W8ONL 40
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(b)

10. (a)

(b)

Article

a3y

T aQw>

Wh.at is index number ? What are
various types of index number ?- |
| - 1+3=4

TPIRT 52 s [fen eeiREE &2

What is time series ? What is the
purpose of time series analysis ?
1+3=4

T (T 152 o7 (=T} Reswes SopiEe e

fCa;lculfate index numbers from the

Po lowing data using Laspeyre’s,

aasche’s and Fisher’s formulae :
2+2+2=6

=I5t ’
W”‘j‘?"fﬁmwa@mﬁﬁﬁﬁ
O AT P Wfwaiell S

Base Year Current Year -

fSfe o vlere aF
Price Quantity Price Quantity

kRN e s
4 8 9 10
7 '5 8
6 8 5
5 4

N AW

7
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123

13.
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(b)

(b)

(@)

‘Explain.

_ What is test of significance ? Discuss
‘various steps associated with test of

significance. 6
srel S8 {52 LTl SR S Sive
SCEFSTIR SGEbA T

‘ Explain' the concept of (i) point

estimation, and (i) interval estimation.
4

(i) T ST, SR (i) STERIST ST L=
iyl |

What is sampling distribution ?
: 5)

Sifepae 95 2 AT 1|

What is simple random sampling ?

Discuss advantages and disadvantages
of this method. S
el Tz elfeve 2 3 Awfod AR
o SRR Sl 4

persion ? Why is S.D. called

What is dis
on ? 5

the best measure of dispersi

Grreeldl e i ROTRe [CFATS FRCY A

ofer fon ORI W2
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(b) From the following infbmation, calculate .
~ OPTION-B

|
!
| 5 l s
USIo) tions Res
ﬁz“ Q)QI]Q Wwf\ ! (Opera |
IO FDTIR l ;
RERIEE L ' r Paper : COM-HG-3026
- |
2l Bl i | » Ouestion Nos. 1 2, 3 and any four
2.X =100, ZY =150, n=10 I Ansiicegy from the, rest.
|
> (X -10)? =180, S (v -15) =215 | 1, 2, 371'\%@‘@?7%7‘3?77@;@37@%@?%
| Izl Bifa5IT OeT Il
Z(X —10)(Y = 15) =60 , : ‘ L . A nswer the following as directed :
f ] 1x10=10
I (@) What is LPP 7
?
' (b) Deﬁne »network.
| eI T frrat |
(c) What is dummy activity 2
oifsr A S e

hStIC model.
(Fill in the blank)

+ e wooA 1
T (2T 312 739 )

is a probabi

Linear programmmg is

e @Al 2

m-3/CBCS) HG 1
| 4 (Sem~3/CBCS) HO/HO2/C



()

(h)

)

(i) a constrained optimisation model

9ol (e SRR i

(@) a constrained decision maklng

model

5! Praig avesiR SR oiE

(i) a mathematical programming
model

ot afdfes wlEm =i

(iv) All of the above
@7 SIBIRCEh!
(Choose the correct one)
(w7 TGICH! 5167 1)
ABC analysis means
ABC Resma sy |
What is slack rariablé ?
I 5T A T2
The word ‘replacement’ meané
A * O T |
What is VED analysis ?
VED fcsiel st e

4 (Sem-3/CBCS) HG1/HG2/G 18

Answer any four

 LPP involving only two decision is

Y method.
w5l Praies Jere R TEEE T TeYe
@R s (Rl =
Ans.x‘zv.ér the follo'vving n shorf . . 2x5=10
5T AR b3, U GRIN
(a) Define free float.
e eAeR e izl
- (b) What is graphlcal method ?
oo AR A &
(c) Define total float.
3y esle el | |
(d) What is inventory control ?
g AR T
(e) Define independent float.

o7 ereR AkE Al

5x4=20

questions 3

Rigeaizart oIfDY e e T ¢

(@)

4 (Sem~3/CBCS) HG1/HG2/G

Write on the formulation of LPP model.

o Wﬂww@m@qﬁw

19 ' Contd.



(b)

(c)

(d)

Solve - graphically the linear
programming problem (LPP) :

QRS T TG GRS shafes wme
TN 3 |
Maximize Z =2x, +3x,

subject to (56 i)

X; + Xo <30
X —Xx,=0
L Xy 2’3
- 0=<x <20
0<x,<12
X1, X 20

The set of feasible solutions to an LPP
is a convex set. Prove it.

@RT FRS T GOR IARS T AN
TSI b1 TSR AR | e 7=

Explain briefly the replacement of items
whose maintenance cost increases with
time and the value of money remains
same during the period.

T W B AN GRS e e @l
ST 3 W W 479 6T (IR S GiE A |
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(e)

4. Answer any four questions :

Demand for a certain product in a
‘newsboy’ model is normally distributed -
.With mean 100 -units and standard

deviation 20. Lost proﬁt’ of Rs.8 per

- unit and salvage loss is Rs.12. Find

the optimal initial inventory. .

Gvey s GBS @bl RFE e bifw
FYRETS TE 100 w% W [KpIfe 20 1 Gics
Sofve [Fovd 391 W | CTRDIT a1 (= AfS
M0 8 Tl TS Bl TR (I =E 12
‘Wﬁ\@&@ﬁ8mﬁ?ﬁimﬁﬁﬁ?ﬁﬂ¢ﬁﬁmﬁawu

10x4=40

gzt 51T o T f 8

(a) Write the fbrmul

4 (Sem-3/CBCS) HG1/HG2/G

" economic order qu

ation and solution of

antity model.
freqd) T AR o AT
St goRe BTl

21 Contd.



(b) Solve by simplex method :
- o smafer e 3 ¢
Maximize Z =3x +'3x2
subject to (5 ACATE) .

F 50 + x5S 2
5x;+2x, <10
3x, +8x, <12
X116 0

(c) Given the following information :

TS $2 @M T TR 3

Activity ; 4

() SO =
- 112 1-3 2-4.2.5 34 36 41 5.7 67
Duration  : .
; o
(in days) Sl e B T 5. 2 48
TR (o)

(i) Draw the arrow diagram.
I Ha =i |

(i) Identify critical path and find the
total project duration.

el o2 Bre w1 o Fo A
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 ofefre ol (%)

(i) Determine total, free and
~ independent float ‘ e s

f{b,ﬁmﬁmmmwmﬁa’mwu

(d) The data collected in running a
machine, the cost of which is Rs.60,000

~are given below :
7@ @5 SETRE IS AT F 9, AL PN
728 60,000 B &S © fl txm ¢

Year 1 2 3 e 5
il .

Resale value (Rs) 42,000 30,000 20,400 14,400 9,650
o R W (57) »

Cost of shares (Rs) @ 4,000 4270 4,880 5,700 6,800

Cost of labour [Rs] ;14,000 16,000 18,000 21,000 25,000

e T (59
Determine the optimgrr}“’ptripd for
replacement of the machine.

L5l FEI I T e s e
(e) Write short notes on ' :

5y (ot ferdl &

(@) Concept of sl

ack variable
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(b) ABC analysis
 ABC ¥ B

(f) Write the difference between PERT and
- CPM. Discuss the rules for network
‘construction. '

PERT < CPM ¥ ere #1955 fo13 | (o\eai
(AR I AR AN ST 5 |

(9) Discuss different types of costs in
inventory system and write the benefits

of inventory control.

ﬁ%{«ﬁwaﬁwwww‘
G AT AP TR |

‘ 0
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